BOOTH PARTS MANUAL
NECTA SPL273 & CAD007

October 2001

Booth Dispensers Ltd. Durham Ave, Lytham St Annes, Lancs. FY8 2EP
Tel. 01253 785400 Fax. 01253 785404 E mail sales@booth-dispensers.co.uk
Ref: Necta SPL273 & CADO007 Parts Manual 3B1253/1

1




BOOTH PARTS MANUAL
NECTA SPL273 & CAD007

DISPENSE PARTS

\ / // // // P e
\ / / / 4 s il
\ / 7 4 s
/ / / 7 Ve

) / / , , - -7

———————

@ / / \ N AN N DN

T @ @ @@ ndB20 B ®
No Description Part No No Description Part No
1 Dispense Nozzle 1A3780 18 Screw M4 x 6 Nylon 1B6264
2 Oetiker Clamp 9.5 1B6031 19 Dowty Seal M4 1B6265
3 Tube 8 x4 EVA 1B8456 20 Plug Valve Manifold 1B6904
4 Insul-Tube 12x9 1B1167 21 Valve Spring 1B0649
5 No 1 s/a label 1B0117 22 Screw adjuster 1B5447
6 No 2 s/a label 1B0113 23 Hex Nylon Nut 1B2442
7 Oetiker Clamp 10.0 1B4295 24 "O"seal1.151D 1B4963
8 Nipple Elbow s/s 1B9040 25 Screw M5 x 30mm 1B0886
9 0-Ring 1B0915 26 Washer 5.3mm ID 1B1028
10 Insul - Tube 12x9 1B1265 27 Actuator Bracket 1B0010
11 Dispense Nozzle 3B0848 28 Long Stem Actuator 1B4797
12 Screw 8 - 32 UNC x 1/2" 1B9478 29 Screw 8 x 3/4 1B2223
13 Cookie Bite washer 1B9228 30 Screw 6BA x 13 1B0527
14 Nipple Barbed 1B0266 31 Washer 0.123" ID 1B0313
15 Solenoid 230v 50HZ 1B1014 32 Nut 6BA 1B0809
16 Mounting Plate 2 way 1B1934 33 Label "Ice Coffee" 1B9499
17 Control Block 2 way 1B8343 Label "Still Water" 1B1184

Booth Dispensers Ltd. Durham Ave, Lytham St Annes, Lancs. FY8 2EP
Tel. 01253 785400 Fax. 01253 785404 E mail sales@booth-dispensers.co.uk
Ref: Necta SPL273 & CADO007 Parts Manual 3B1253/1




BOOTH PARTS MANUAL
NECTA SPL273 & CAD007

FRIDGE PARTS

No Description
Thermostat

Cooling Fan
Capacitor GD36MB
Compressor GD36MB
Fan Agitator

Agitator Assembly
Impellor 35mm
Agitator Plate

Start Relay GD36MB
Thermal Overload

SOWONOUOAWN =

Part No

1B6541
1B5514
1B8446
3B0739
1B9730
1A3695
1B6449
1B9673
1B8447
3B1251

Booth Dispensers Ltd. Durham Ave, Lytham St Annes, Lancs. FY8 2EP

Tel. 01253 785400 Fax. 01253 785404 E mail sales@booth-dispensers.co.uk

Ref: Necta SPL273 & CADO007 Parts Manual 3B1253/1




BOOTH PARTS MANUAL
NECTA SPL273 & CAD007

WATER SYSTEM PARTS

No

OCOoONOOOAPRWN-=-

Description Part No No Description
Regulator & Solenoid Assembly 1A3738 10 Nut Tubing
Pipe - Tee to Regulator 3B1091 11 Sleeve
5/16 JG Equal Tee 1B6818 12 Elbow 3/8 bsp - 3/8 Tube Enot
Pipe - Bulkhead to Tee 3B1090 13 Water regulator RP120
JG 5/16 Bulkhead Connector 1B6319 14 Solenoid Valve
Adaptor 8mm stemto 1/4 bsp  3B1103 15 Elbow 1/4 bsp - M8 Tube Enot
Pressure Switch 1B2583 16 Sleeve Tub 5/16
Screw M4 x 6 1B5845 17 Nut Tubing 5/16
Pipe - Regulator to Water Coil  3B1037

Part No

1B1273
1B1136
1B1386
1B8810
1B5132
1B4413
1B8915
1B8916

Booth Dispensers Ltd. Durham Ave, Lytham St Annes, Lancs. FY8 2EP
Tel. 01253 785400 Fax. 01253 785404 E mail sales@booth-dispensers.co.uk
Ref: Necta SPL273 & CADO007 Parts Manual 3B1253/1




BOOTH PARTS MANUAL
NECTA SPL273 & CAD007

SYRUP PUMP ASSEMBLY

No Description
Syrup Pump 230v

O' ring seal

Delrin Washer

Hose Connector
Herbie Clip 'BB'

Tube 8 x4 EVA

Rivet 5mm

Mounting Clip

ONOO GO, WN -

Part No
1A2279
1B2027
3B0190
1B2396
1B5629
1B8456
1B3864
1B3525

No Description Part No
1 Relay Mounting Bracket 1A3779
2 230v Relay 3B1042
3 Shakeproof washer 1B0313
4 Brass Nut M3 1B1142
5 Terminal block 1B5874

Booth Dispensers Ltd. Durham Ave, Lytham St Annes, Lancs. FY8 2EP
Tel. 01253 785400 Fax. 01253 785404 E mail sales@booth-dispensers.co.uk
Ref: Necta SPL273 & CADO007 Parts Manual 3B1253/1




BOOTH PARTS MANUAL
NECTA SPL273 & CAD007

MISCELLANEOUS

No Description Part No No Description Part No
1 Syrup Pump Lid (SPL273) 3B0858 11 Oetiker Clamp 10.5 1B1668
(CADOOQ7) 3B1268
2 Top Cover 3B0860 12 Tube 8 x4 EVA 1B8456
3 Site Glass Red cap 3B1259 13 Barbed Elbow 3B1095
4 P'Clip 1B9740 14 Oetiker Clamp 13.3 1B1669
5 Site Glass Tube 1B6869 15 Braided Tube 12mm OD x 6.3mm ID 1B2584
6 Right Bracket 3B0854 16 Oetiker Clamp 13.3 1B1669
7 Lower Front Cover 3B0873 17 Nut Brass 1B1975
8 JG Super Seal Elbow 3/8" x 3/8" 1B5030 18 Nippled Adaptor 1B8930
9 Left Bracket 3B0853 19 Red Cap 1B0423
10 Baa in Box Connector 1B2497 20 Water Inlet Assembly 1A3739

Booth Dispensers Ltd. Durham Ave, Lytham St Annes, Lancs. FY8 2EP
Tel. 01253 785400 Fax. 01253 785404 E mail sales@booth-dispensers.co.uk
Ref: Necta SPL273 & CADO007 Parts Manual 3B1253/1




BOOTH PARTS MANUAL
NECTA SPL273 & CAD007

ELECTRICAL COMPONENTS

No Description

1 Solenoid to Relay Wiring harness
2 Electrical Inlet harness

Part No

1A3741
1A3742

Booth Dispensers Ltd. Durham Ave, Lytham St Annes, Lancs. FY8 2EP
Tel. 01253 785400 Fax. 01253 785404 E mail sales@booth-dispensers.co.uk

Ref: Necta SPL273 & CADO007 Parts Manual 3B1253/1

7




BOOTH PARTS MANUAL
NECTA SPL273 & CAD007

ELECTRICAL COMPONENTS

No Description Part No
1 Pressure Switch Harness 1A3709
2 Fridge Supply Harness Block to Plug 1A3805
3 Fridge Supply Harness Plug to Compressor 1A3806

Booth Dispensers Ltd. Durham Ave, Lytham St Annes, Lancs. FY8 2EP
Tel. 01253 785400 Fax. 01253 785404 E mail sales@booth-dispensers.co.uk
Ref: Necta SPL273 & CADO007 Parts Manual 3B1253/1




